

On Pseudo Projective Curvature Tensor in Sasakian Manifolds

H. G. Nagaraja ¹ and G. Somashekara

Department of Mathematics, Bangalore University
Central College Campus Bangalore-56001, India

Abstract. We consider pseudo projective curvature tensor in Sasakian manifolds. We show that every pseudo projectively flat and pseudo projective semi symmetric Sasakian manifolds are locally isomorphic to unit sphere. Next we show that in a Sasakian space time manifold with conservative pseudo projective curvature tensor the integral curves of the characteristic vector field are geodesics.

Mathematics Subject Classification: 26D15

Keywords: Sasakian manifold, pseudo projective curvature tensor, Einstein, η -Einstein, pseudo projective ricci flat

1. INTRODUCTION

In 2002 B.Prasad [3] defined and studied a tensor field \bar{P} on a Riemannian manifold of dimension $n > 2$ which includes the projective curvature tensor P . This tensor field \bar{P} is known as Pseudo projective curvature tensor. In [1, 2, 11], the authors C.S.Bagewadi, Venkatesha, D.G.Prakasha and others have extended this notion to Kenmotsu and LP-Sasakian manifolds and obtained the conditions for these manifolds to be of Einstein, η - Einstein and pseudo projectively flat. Further J.P.Jaiswal and R.H.Ojha studied weakly

¹hgnraj@yahoo.com

pseudo projective symmetric and ricci-symmetric manifolds and investigated the nature of scalar curvature in these manifolds. Motivated by the above studies, in this paper we study pseudo projective curvature tensor in Sasakian manifolds. Section 2 contains preliminaries. In section 3 we prove Sasakian manifolds with condition $R \cdot \bar{P} = 0$ and we prove pseudo projectively flat Sasakian manifolds are locally isometric to unit sphere. Then we prove that in a Sasakian space time manifold with conservative pseudo projective curvature tensor, the integral curves of the characteristic vector field are geodesics. In section 4, we consider pseudo projective ricci tensor and pseudo projective ricci flat spaces.

2. PRELIMANARIES

A $2n + 1$ dimensional Riemannian manifold (M^n, g) is said to be an almost contact metric manifold if there exist on M^n , a $(1, 1)$ tensor field φ , a vector field ξ and a 1-form η such that

$$(2.1) \quad \eta(\xi) = 1, \varphi^2(X) = -X + \eta(X)\xi$$

$$(2.2) \quad g(\varphi X, \varphi Y) = g(X, Y) - \eta(X)\eta(Y)$$

for any vector fields X and Y on M . An almost contact metric structure of M is a contact metric manifold if

$$(2.3) \quad d\eta(X, Y) = g(X, \varphi Y)$$

The almost contact metric structure of M is said to be normal if $[\varphi, \varphi](X, Y) = -2d\eta(X, Y)\xi$ for any X, Y , where $[\varphi, \varphi](X, Y) = \varphi^2[X, Y] + [\varphi X, \varphi Y] - \varphi[\varphi X, Y] - \varphi[X, \varphi Y]$.

A normal contact metric manifold is called a Sasakian manifold. It is well known that an almost contact metric manifold is Sasakian manifold if and only if

$$(2.4) \quad (\nabla_X \varphi)Y = g(X, Y)\xi - \eta(Y)X$$

for any X, Y . In a Sasakian manifold the following relations hold.

$$(2.5) \quad \varphi\xi = 0$$

$$(2.6) \quad \eta \circ \varphi = 0$$

$$(2.7) \quad g(\varphi X, \varphi Y) = g(X, Y) - \eta(X)\eta(Y)$$

$$(2.8) \quad g(X, \xi) = \eta(X)$$

$$(2.9) \quad \nabla_X \xi = -\varphi X$$

$$(2.10) \quad S(X, \xi) = (n - 1)\eta(X)$$

$$(2.11) \quad R(\xi, X)Y = g(X, Y)\xi - \eta(Y)X$$

$$(2.12) \quad R(X, Y)\xi = \eta(Y)X - \eta(X)Y.$$

3. PSEUDO PROJECTIVE CURVTURE TENSOR IN SASAKIAN MANIFOLDS

Let (M^n, g) be an n -dimensional Sasakian manifold. The pseudo projective curvature tensor is defined as follows [3]:

$$(3.1) \quad \bar{P}(X, Y)Z = aR(X, Y)Z + b[S(Y, Z)X - S(X, Z)Y] - \frac{r}{n} \left(\frac{a}{n-1} + b \right) [g(Y, Z)X - g(X, Z)Y]$$

Pseudo projectively flat Sasakian manifolds

If (M^n, g) is pseudo-projectively flat, then (3.1) assumes the form

$$(3.2) \quad R(X, Y)Z = \frac{b}{a}[S(X, Z)Y - S(Y, Z)X] - \frac{r}{na} \left(\frac{a}{n-1} + b \right) [g(X, Z)Y - g(Y, Z)X]$$

Contracting the above equation with U , we obtain

$$(3.3) \quad \begin{aligned} 'R(X, Y, Z, U) &= \frac{b}{a}[S(X, Z)g(Y, U) - S(Y, Z)g(X, U)] \\ &\quad - \frac{r}{na} \left(\frac{a}{n-1} + b \right) [g(X, Z)g(Y, U) - g(Y, Z)g(X, U)] \end{aligned}$$

where $'R(X, Y, Z, U) = g(R(X, Y)Z, U)$.

Setting $U = \xi$ in (3.3), we obtain

$$(3.4) \quad \begin{aligned} 'R(X, Y, Z, \xi) &= \frac{b}{a}[S(X, Z)\eta(Y) - S(Y, Z)\eta(X)] \\ &\quad - \frac{r}{na} \left(\frac{a}{n-1} + b \right) [g(X, Z)\eta(Y) - g(Y, Z)\eta(X)] \end{aligned}$$

Putting $Y = \xi$ in (3.4), we obtain

$$(3.5) \quad 'R(X, \xi, \xi, Z) = \frac{b}{a}[S(X, Z) - (n-1)\eta(Z)\eta(X)] - \frac{r}{na} \left(\frac{a}{n-1} + b \right) [g(X, Z) - \eta(Z)\eta(X)]$$

In view of (2.11), the equation (3.5) assumes the form

$$(3.6) \quad S(X, Z) = Ag(X, Z) + B\eta(X)\eta(Z),$$

where

$$(3.7) \quad A = \frac{r}{nb} \left(\left(\frac{a}{n-1} + b \right) - \frac{a}{b} \right)$$

$$(3.8) \quad B = \left((n-1) - \frac{r}{bn} \left(\frac{a}{n-1} + b \right) + \frac{a}{b} \right)$$

This shows that (M^n, g) is η -Einstein. Let $\{e_i\}$, $1 \leq i \leq n$ be an orthonormal basis of the tangent space at any point. Contracting the equation (3.6), we obtain

$$(3.9) \quad r = nA + B$$

By virtue of (3.6), (3.7) and (3.9), we get

$$r = n(n-1)$$

Substituting this in (3.7) and (3.9) and using (3.6), we obtain

$$(3.10) \quad S(X, Z) = (n-1)g(X, Z)$$

i.e. (M^n, g) is an Einstein manifold.

From (3.3) and (3.10), we obtain

$$(3.11) \quad 'R(X, Y, Z, U) = [g(Y, Z)g(X, U) - g(X, Z)g(Y, U)]$$

i.e. (M^n, g) is locally isometric with unit sphere $S^n(1)$. Conversely suppose the space (M^n, g) is locally isometric with $S^n(1)$, then (M^n, g) becomes pseudo projectively flat. Thus we can state that

Theorem 3.1. *A Sasakian manifold is Pseudo projectively flat if and only if it is locally isometric to unit sphere $S^n(1)$.*

Sasakian manifolds satisfying $R(X, Y) \cdot \bar{P} = 0$

If (M^n, g) satisfies $R(X, Y) \cdot \bar{P} = 0$, then we have

(3.12)

$$0 = R(X, Y)\bar{P}(U, V)W - \bar{P}(R(X, Y)U, V)W - \bar{P}(U, R(X, Y)V)W - \bar{P}(U, V)R(X, Y)W$$

Putting $X = \xi$ in (3.12), we obtain

(3.13)

$$0 = R(\xi, Y)\bar{P}(U, V)W - \bar{P}(R(\xi, Y)U, V)W - \bar{P}(U, R(\xi, Y)V)W - \bar{P}(U, V)R(\xi, Y)W$$

In view of (2.11), the above equation takes the form

(3.14)

$$0 = g(\bar{P}(U, V)W, Y) - \eta(Y)\eta(\bar{P}(U, V)W) - g(U, Y)\eta(\bar{P}(\xi, V)W) + \eta(U)\eta(\bar{P}(Y, V)W) - g(V, Y)\eta(\bar{P}(U, \xi)W) + \eta(V)\eta(\bar{P}(U, Y)W) + \eta(W)\eta(\bar{P}(U, V)Y)$$

Setting $Y = U$ in the above equation we obtain

(3.15)

$$0 = g(\bar{P}(U, V)W, U) - g(U, U)\eta(\bar{P}(\xi, V)W) + -g(V, U)\eta(\bar{P}(U, \xi)W) + \eta(W)\eta(\bar{P}(U, V)U)$$

Let $\{e_i\}, 1 \leq i \leq n$ be an orthonormal basis of the tangent space at any point.

Taking $U = e_i$ and summing over $1 \leq i \leq n$, in view of (3.1), (2.11) and (2.12) we obtain

$$(3.16) \quad S(Y, Z) = (n - 1)g(Y, Z) + \frac{r - n(n - 1)b}{a}\eta(Y)\eta(Z)$$

Contracting the above equation we obtain

$$(3.17) \quad r = n(n - 1)$$

Plugging this in (3.16), we obtain

$$(3.18) \quad S(Y, Z) = (n - 1)g(Y, Z)$$

i.e. M^n is an Einstein manifold. Now from equations (3.1), (2.11), (2.12) and (3.14) we obtain

$$'R(X, Y, Z, U) = [g(Y, Z)g(X, U) - g(X, Z)g(Y, U)]$$

Thus we have proved that a Sasakian manifold (M^n, g) is locally isometric to unit sphere $S^n(1)$ even if the space (M^n, g) satisfies the weaker condition $R \cdot \bar{P} = 0$. Since a pseudo projectively flat space is always pseudo projective semi-symmetric, the converse follows from theorem 3.1. Thus we have

Theorem 3.2. *A Sasakian manifold is locally isometric to unit sphere $S^n(1)$ if and only if $R.\bar{P} = 0$ holds.*

Conservative pseudo projective curvature tensor

Suppose (M^n, g) is an n -dimensional Sasakian space-time manifold with the Einstein field equations without cosmological constant. Then we have

$$(3.19) \quad S(X, Y) = \alpha g(X, Y) + \beta \eta(X)\eta(Y)$$

where $\alpha = (kp + \frac{1}{2}r)$, $\beta = k(\sigma + p)$ and k is the gravitational constant, σ is the energy density, p is the pressure and r is the scalar curvature.

Taking the covariant derivative of (3.1), we get

$$(3.20) \quad (\nabla_W \bar{P})(X, Y)Z = a(\nabla_W R)(X, Y)Z + b[(\nabla_W S)(Y, Z)X - (\nabla_W S)(X, Z)Y] \\ - \frac{dr(W)}{n} \left(\frac{a}{n-1} + b \right) [g(Y, Z)X - g(X, Z)Y]$$

Contracting with respect to W , and from

$div R = (\nabla_X S)(Y, Z) - (\nabla_Y S)(X, Z)$, we obtain

$$(3.21) \quad (div \bar{P})(X, Y)Z = (a + b)[(\nabla_X S)(Y, Z) - (\nabla_Y S)(X, Z)] \\ - \frac{1}{n} \left(\frac{a}{n-1} + b \right) [dr(X)g(Y, Z) - dr(Y)g(X, Z)]$$

If the pseudo projective curvature tensor is conservative i.e. $div \bar{P} = 0$, then equation (3.21) becomes

$$(3.22) \quad (\nabla_X S)(Y, Z) - (\nabla_Y S)(X, Z) = \frac{1}{n(a+b)} \left(\frac{a}{n-1} + b \right) [dr(X)g(Y, Z) - dr(Y)g(X, Z)]$$

In view of (3.19), (3.21) assumes the form

$$(3.23) \quad (\alpha - \frac{1}{2})(dr(X)g(Y, Z) - dr(Y)g(X, Z)) = \beta [((\nabla_X \eta)Y - (\nabla_Y \eta)X)\eta(Z) + \\ (\eta(Y)(\nabla_X \eta)Z - \eta(X)(\nabla_Y \eta)Z)]$$

Taking $Y = Z = e_i$ and summing over $1 \leq i \leq n$,

$$(3.24) \quad (n-1)(\alpha - \frac{1}{2})dr(X) = \beta [2(\nabla_X \eta)\xi - (\nabla_\xi \eta)X - \delta \eta \eta(X)],$$

where $\delta\eta = (\nabla_{e_i}\eta)e_i$. Putting $Y = Z = \xi$ in (3.23), we obtain

$$(3.25) \quad (\alpha - \frac{1}{2})(dr(X) - dr(\xi)\eta(X)) = \beta [(2(\nabla_X\eta)\xi - (\nabla_\xi\eta)X - \eta(X)(\nabla_\xi\eta)\xi)]$$

From (3.24) and (3.25), we obtain

$$(3.26) \quad (\alpha - \frac{1}{2})((n - 2)dr(X) - dr(\xi)\eta(X)) = \beta [-\delta\eta \eta(X)]$$

Setting $X = \xi$ in (3.26), we obtain

$$(3.27) \quad (\alpha - \frac{1}{2})(n - 1)dr(\xi) = -\beta(\delta\eta)$$

From (3.26) and (3.27), we obtain

$$(3.28) \quad dr(X) = dr(\xi)\eta(X), n > 2, \alpha \neq \frac{1}{2}$$

Using (3.28) in (3.23) with $Z = \xi$, we obtain

$$(3.29) \quad \beta [(\nabla_X\eta)Y - (\nabla_Y\eta)X] = 0$$

Since $\beta = k(\sigma + p) \neq 0$, we must have $(\nabla_X\eta)Y - (\nabla_Y\eta)X = 0$.

This implies $g(X, (\nabla_\xi\xi)) = 0 \quad \forall X$.

Hence $(\nabla_\xi\xi) = 0$.

i.e. ξ is a parallel vector field or that the integral curves of ξ are geodesics.

Thus we can state that

Theorem 3.3. *In a Sasakian space time manifold with conservative pseudo projective curvature tensor, the integral curves of the characteristic vector field are geodesics.*

Suppose $(divR)(X, Y)Z = 0$.

Then from (3.21), $(div\bar{P})(X, Y)Z = 0$ if and only if $dr(X) = 0, \forall X$ or r is a constant. It means that a divergence free Sasakian manifold (M^n, g) is of constant curvature if and only if the pseudo projective curvature tensor is conservative. Thus from the above theorem it follows that

Corollary 3.1. *In a divergence free Sasakian space form, the integral curves of the characteristic vector field are geodesics.*

4. PSEUDO PROJECTIVE RICCI TENSOR AND PSEUDO PROJECTIVE RICCI
FLAT SPACES

From the pseudo projective tensor defined as in 3.1, a symmetric tensor of type (0,2) can be obtained as follows:

$$(4.1) \quad Ric\bar{P}(X, Y) = {}'P(X, e_i, e_i, Y)$$

where ${}'\bar{P}(X, Y, Z, U) = g(\bar{P}(X, Y)Z, U)$, $\{e_i\}$ is an orthonormal basis of the tangent space at any point and summing over $1 \leq i \leq n$ in (4.1), from (3.1), we have

$$(4.2) \quad \begin{aligned} {}'\bar{P}(X, Y, Z, U) = & a {}'R(X, Y, Z, U) + b[S(Y, Z)g(X, U) - S(X, Z)g(Y, U)] \\ & - \frac{r}{na} \left(\frac{a}{n-1} + b \right) [g(Y, Z)g(X, U) - g(X, Z)g(Y, U)] \end{aligned}$$

Putting $Y = Z = e_i$ in (4.2) and summing over $1 \leq i \leq n$, we obtain

$$(4.3) \quad Ric\bar{P}(X, Y) = (a - b)S(X, Y) + \frac{b - a}{n}rg(X, Y)$$

From (4.3) it follows that

$$S(X, Y) = \frac{r}{n}g(X, Y) \text{ if and only if } Ric'P(X, Y) = 0.$$

i.e. Einstein space is characterised by the vanishing of pseudo projective ricci tensor. Thus the pseudo projective tensor in a Sasakian manifold M^n is a measure of the failure of M^n to be Einstein.

We call (M^n, g) as Ricci pseudo projectively flat if $Ric'P(X, Y)$ vanishes.

It is clear that a pseudo projectively flat space is always Ricci pseudo projectively flat and a Ricci pseudo projectively flat is Einstein.

Suppose (M^n, g) is pseudo projective ricci semi-symmetric.

$$\text{Then } R.Ric\bar{P} = 0 \text{ or } Ric\bar{P}(R(X, Y)Z, W) + Ric\bar{P}(Z, R(X, Y)W) = 0.$$

$$\text{In view of (4.3), the above equation yields } S(R(X, Y)Z, W) + S(Z, R(X, Y)W) = 0 \text{ or } R.S = 0.$$

Converse is also true. Thus we have

Theorem 4.4. *A Sasakian manifold (M^n, g) is pseudo projective ricci semi-symmetric if and only if it is ricci semi-symmetric.*

Suppose in a Sasakian manifold (M^n, g) , the condition $\bar{P}.Ric\bar{P} = 0$ holds. Then $Ric\bar{P}(\bar{P}(X, Y)Z, W) + Ric\bar{P}(Z, \bar{P}(X, Y)W) = 0$. This with (4.3) gives

$$(4.4) \quad (a-b)S(\bar{P}(X, Y)Z, W) + \left\{ \frac{(b-a)r}{n} \right\}'\bar{P}(X, Y, Z, W) + (a-b)S(Z, \bar{P}(X, Y)W) \\ + \left\{ \frac{(b-a)r}{n} \right\}'\bar{P}(X, Y, W, Z) = 0$$

Setting $X = W = \xi$ in (4.5) and making use of (2.11),(2.12) and (3.1), we obtain

$$(4.5) \quad S(Y, Z) = \alpha g(Y, Z) + ((n-1)\beta + 1)\eta(Y)\eta(Z)$$

$$(4.6) \quad \alpha = \frac{a(a + (n-1)b)(n(n-1) - r)}{n-1},$$

$$(4.7) \quad \beta = \frac{a(n(n-1) - r) - (n-1)br}{n(n-1)}$$

Thus we have

Theorem 4.5. *A Sasakian manifold (M^n, g) satisfying the condition $\bar{P}.Ric\bar{P} = 0$ is η -Einstein.*

REFERENCES

- [1] C.S.Bagewadi, D. G.Prakasha and Venkatesha , *On pseudo projectively flat LP-Sasakian manifold with a coefficient α* , Annales Universitatis marie Curie-Sklodowska, Vol.LXI, (2007) 1-8.
- [2] C.S.Bagewadi, Venkatesha, N.S.Basavarajappa, *On LP-Sasakian manifolds* , Scientia, Series A:Mathematical Sciences, Vol.16(2008), 1-8.
- [3] Bhagawat Prasad, *On pseudo projective curvature tensor on a Riemannian manifold*, Bull.Cal.Math.Soc., 94 (3)(2002), 163-166.
- [4] M.C.Chaki, S.K.Saha, *On pseudo projective ricci symmetric manifolds*, Bulgarian Journal of Physics 21 Nos 1/2 (1994) 1-7.
- [5] U.C.De and Yooshio Matsuyama, *Quasi-conformally flat manifolds satisfying certain condition on the ricci tensor*, SUT Journal of Mathematics, Vol. 42, No.2 (2006), 295-303.
- [6] Florence Gouli-Andreou and Philippos J.Xenos, *Two classes of conformally flat contact metric 3-manifolds*, J.geom. 64 (1999) 80-88.
- [7] Mukut Mani Tripathi and Mohit kumar Dwivedi, *The structure of some classes of K-contact manifolds*, Proc.Indian Acad.Sci(Math.Sci.) Vol.118, No.3, (2008) 371-379.
- [8] H.G.Nagaraja, *On N(k)-Mixed Quasi Einstein Manifolds*,European Journal of Pure and Applied mathematics,Vol. 3, No. 1, (2010) 16-25.

- [9] Cihan Özgür and U.C.De, *On the Quasi-conformal curvature tensor of a Kenmotsu manifold*, *Mathematica Pannonica*, 17/2(2006)221-228.
- [10] Uday Chand De, Jae Bok Jun and Abul Kalam Gazi, *Sasakian manifolds with quasi conformal curvature tensor*, *Bull.Korean Math.Soc.* 45(2008), No.2, 313-319.
- [11] Venkatesha and C.S.Bagewadi, *On pseudo projective φ -recurrent Kenmotsu manifolds*, *Soochow Journal of Mathematics*, Vol 32, No.3(2006) 433-439.

Received: December, 2010